31.05.2016

OtyerT: Neparory no npegmety

Bepcus ana nevatu

NMpoxopoB Bnagnmup AHatonbeBuy, 2015/2016 yuyebHbIn roa, UHdopmaTuka

YcnesaemocTb Coonruti | % % O6wmit
Knacc Mepvog Ob6yuarowmxcst H/ Het 6ann cnes. kay. | COY
Otn| Xop | YA | Heya | \'|OCB |34 H3 | y . | (%)
1-9 yeTBepTb | 16 3 10 |3 |0 010 0 |0 |0 4 100 81,25 | 65,50
2-7 yeTBepTh | 16 12 |4 0 (o 010 0 |0 |0 4,75 100 100 | 91,00
?I;Iicpopmj) 3-s14eTBepPTL | 16 8 7 1 1]0 010 0 |0 |0 4,44 100 93,75 | 80,25
4-a vyeTBepTb | 16 10 |6 0 |0 010 0 |0 |O 4,62 100 100 | 86,50
lon 16 9 7 0 (O 010 0 |0 |0 4,56 100 100 |84,25
1-a yeTBepThb | 15 3 10 |2 |0 010 0 |0 (O 4,07 100 86,67 | 67,47
2-a yeTBepTb | 15 9 6 0 |0 010 0 (0 [O 4,6 100 100 | 85,60
?I;qunopmj) 3-a yeTBepThb | 15 8 6 110 010 0 |0 |0 4,47 100 93,33 | 81,33
4-a yeTBepTb | 15 10 |5 0 |0 0f(0 0 (0 |[O 4,67 100 100 | 88,00
ron 15 7 8 0 (o 010 0 |0 |0 4,47 100 100 | 80,80
1-a yeTBepTb | 14 1 6 7 |0 010 0 |0 |0 3,57 100 50 52,57
2-a yeTBepTb | 14 4 7 3 |0 010 0 |0 |O 4,07 100 78,57 | 68,29
?I;qu)opmj) 3-s1yeTBepTHL | 14 7 5 2 |0 010 0 |0 |O 4,36 100 85,71 | 78,00
4-a yetBepTb | 14 6 6 2 |0 010 0 |0 (O 4,29 100 85,711 75,43
Mo 14 5 7 2 |0 010 0 |0 |O 4,21 100 85,71 72,86
1-a yeTBepThb | 13 2 10 (1 |0 0|0 0 |0 (O 4,08 100 92,311 67,38
2-a yeTBepTb | 13 7 6 0 |0 010 0 (0O [O 4,54 100 100 | 83,38
?|;|er)0pM.1) 3-a yeTBepThb | 13 7 5 110 010 0 |0 (O 4,46 100 92,31 [ 81,23
4-a yeTBepTb | 13 8 5 0 |0 01(0 0 (0 |[O 4,62 100 100 | 86,15
ron 13 7 6 0 (o 010 0 |0 |0 4,54 100 100 | 83,38
1-a yeTBepTb | 17 3 9 5 [0 010 0 |0 |0 3,88 100 70,59 | 62,12
2-a yeTBepTb | 17 3 10 |4 |0 010 0 |0 |0 3,94 100 76,47 | 63,76
(GI;qu)opMJ) 3-s14eTBeEpTL | 17 6 9 2 |0 010 0 |0 |0 4,24 100 88,24 | 73,41
4-a yeTBepTb | 16 6 7 3 |0 010 0 |0 (O 4,19 100 81,25 72,25
log 16 3 11 |2 |0 010 0 |0 |O 4,06 100 87,5 67,25
1-Aa yeTBepTh | 15 2 3 10 |0 010 0 |0 |0 3,47 100 33,33 (50,13
2-9 4eTBepTb | 15 3 7 5 |0 010 0 |0 (O 3,87 100 66,67 | 61,87
(GI;I?quopMA) 3-a4eTBepTh | 15 3 8 4 10 010 0 |0 |0 3,93 100 73,33 (63,73
4-a yeTBepTb | 15 5 7 3 |0 010 0 |0 (O 4,13 100 80 70,40
log 15 2 8 5 [0 010 0 |0 |0 3,8 100 66,67 | 59,47
1-a yeTBepTb | 16 5 8 3 |0 010 0 |0 |0 4,12 100 81,25 | 70,00
2-a yeTtBepTb | 15 8 5 2 |0 010 0 |0 |0 44 100 86,67 | 79,47
(6|;|I?-|cbopM.1) 3-s1yeTBepTL | 15 9 3 3 |0 010 0 |0 |0 4,4 100 80 80,00
4-a yetBepTb | 15 8 6 1 1]0 010 0 |0 |0 4,47 100 93,33 | 81,33
log 15 9 4 2 |0 010 0 |0 |O 4,47 100 86,67 | 81,87
1-A vyeTBepTb | 14 3 9 2 |0 010 0 |0 |0 4,07 100 85,71 (67,71
2-a yeTBepThb | 14 4 8 2 |0 010 0 (0 [O 4,14 100 85,711 70,29
o 3-a vyeTBepThb | 13 6 7 0 |0 010 0 |10 (O 4,46 100 100 | 80,62
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(NHgopm. 1)
4-a vyetBepTb | 13 6 7 0 (o 010 0 |0 |0 4,46 100 100 | 80,62
Mo 13 5 8 0 (o 010 0 |0 |0 4,38 100 100 | 77,85
1-A vyeTBepTb | 14 3 8 3 |0 010 0 |0 |O 4 100 78,57 | 65,71
2-a veTBepTh | 14 6 7 110 010 0 |0 |O 4,36 100 92,86 | 77,43
(7I;Ie|l4q)0pM.1) 3-a yeTBepTh | 14 6 5 3 |0 010 0 |0 (O 4,21 100 78,57 73,43
4-a yeTBepTH | 14 2 6 6 |0 010 0 |0 (O 3,71 100 57,14 57,14
loa 14 2 11 [1 |0 0|0 0 |0 |O 4,07 100 92,86 | 67,14
1-9 yetBepThb | 11 2 2 7 |0 010 0 (0 [O 3,55 100 36,36 | 52,73
2-a yeTBepTb | 11 5 5 1 0 0|0 0 (0 |[O 4,36 100 90,91 | 77,82
(?I?—lcbopmﬂ) 3-a yeTBepTb | 11 2 5 4 |0 010 0 |0 |0 3,82 100 63,64 | 60,36
4-51 yeTBEpTDL | 11 2 3 6 |0 010 0 (0 [O 3,64 100 45,45 | 55,27
lon 11 2 4 5 [0 010 0 |0 |0 3,73 100 54,55 | 57,82
1-A vyeTBepTb | 12 1 7 4 |0 010 0 |0 |O 3,75 100 66,67 | 57,67
2-a veTBepTb | 12 6 6 0 (o 010 0 |0 |O 4,5 100 100 | 82,00
(7I;IBHq)0pM.1) 3-9 YeTBepThb | 12 3 8 110 010 0 |0 |0 4,17 100 91,67 | 70,67
4-a yeTBepPTH | 12 1 4 7 |0 010 0 |0 (O 3,5 100 41,67 | 50,67
loa 12 1 10 (1 |0 010 0 |0 |0 4 100 91,67 | 64,67
1-a yeTBepThb | 17 14 |3 0 |0 010 0 |0 (O 4,82 100 100 |93,65
2-a yeTBepTb | 17 8 9 0 |0 0|0 0 (0 |[O 4,47 100 100 | 80,94
?Ihi(bopmj) 3-a yeTBepTb | 17 10 |7 0 (o 010 0 |0 |O 4,59 100 100 | 85,18
4-a vyetBepTb | 17 7 10 |0 |O 010 0 |0 |0 4,41 100 100 |78,82
Mo 17 9 8 0 (o 010 0 |0 |0 4,53 100 100 | 83,06
1-A vyeTBepTb | 14 4 5 5 [0 010 0 |0 |0 3,93 100 64,29 | 64,29
2-a yeTBepTb | 13 2 8 3 |0 010 0 |0 |O 3,92 100 76,92 | 63,08
?I;Iimopmﬂ) 3-a yeTBepTb | 13 3 6 4 10 010 0 |0 |O 3,92 100 69,23 | 63,69
4-a yeTBepTb | 13 1 4 8 |0 010 0 |0 (O 3,46 100 38,46 | 49,54
log 13 1 7 5 [0 010 0 |0 |0 3,69 100 61,54 | 56,00
1-a yeTBepTHL | 14 5 3 6 |0 010 0 |0 (O 3,93 100 57,14 | 64,86
2-a yeTBepTb | 15 2 3 10 (0 010 0 (0 [O 3,47 100 33,33 | 50,13
?I;Iicbopmj) 3-ayeTBepTh | 16 3 7 6 [0 010 0 |0 |0 3,81 100 62,5 |[60,25
4-a yetBepTb | 15 2 4 9 |0 010 0 |0 |0 3,53 100 40 52,00
Mon 15 2 6 7 |0 010 0 |0 |0 3,67 100 53,33 | 55,73
1-Aa vyeTBepTb | 15 6 6 3 |0 010 0 |0 |O 4,2 100 80 72,80
2-a veTtBepTb | 15 2 7 6 [0 010 0 |0 |O 3,73 100 60 57,60
(8|;|rH(b0pM.1) 3-a 4yeTBepTb | 15 7 4 4 |0 010 0 |0 |O 4,2 100 73,33 (73,33
4-a vyeTBepTb | 15 2 2 110 010 0 |0 |0 3,4 100 26,67 | 48,27
log 15 3 7 5 [0 010 0 |0 |0 3,87 100 66,67 | 61,87
1-a yeTBepTHL | 17 8 9 0 |0 010 0 |0 (O 4.47 100 100 80,94
2-9 4yeTBepTb | 17 8 9 0 |0 010 0 |0 (O 4,47 100 100 |80,94
?I;I?«bopmj) 3- yeTBepTb | 16 6 7 3 |0 010 0 |0 |0 4,19 100 81,25 (72,25
4-a yetBepTb | 16 4 8 4 |0 010 0 |0 |0 4 100 75 66,00
Mon 16 7 8 110 010 0 |0 |0 4,38 100 93,75 | 78,00
1-s1 yeTBepTb | 13 2 6 5 |0 0|0 0 [0 |[O 3,77 100 61,54 | 58,77
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9-6 2-a yeTeepTb | 13 2 8 3 |0 010 0 (0 [O 3,92 100 76,92 | 63,08

(NHpopM.1) | 5 ) eraeprs | 13 1 |s |6 [0 |olo |o |o |o 3,62 100 |53,85 5385
4-9 yeTBepTb | 13 0 2 1110 0|0 0 |0 |0 3,15 100 15,38 | 40,31
loa 13 0 8 5 |0 0|0 0 |0 |0 3,62 100 61,54 | 53,23
1-a yeTBepThb | 13 3 6 4 |0 0|0 0 |0 |0 3,92 100 69,23 | 63,69
2-9 4yeTBepThb | 12 2 10 (0 |O 0|0 0 |0 |0 4,17 100 100 | 70,00

9-B

(Virchopm. 1) 3-a ueTBepThb | 12 1 6 5 |0 0|0 0 |0 |O 3,67 100 58,33 | 55,33
4-9 yeTBepPThb | 12 0 7 5 10 010 0 |0 (O 3,58 100 58,33 52,33
loa 12 1 9 2 |0 0|0 0 |0 |0 3,92 100 83,33 | 62,33
1-a yeTBepTb | 15 7 6 2 |0 0|0 0 (0 |[O 4,33 100 86,67 | 77,07
2-a yeTBepThb | 15 10 (3 2 |0 0|0 0 |0 |0 4,53 100 86,67 | 84,27

O-r

(Nncbopm. 1) 3-a4eTBepThb | 15 6 7 2 |0 0|0 0 [0 |[O 4,27 100 86,67 | 74,67
4-9 yeTBepTb | 15 6 4 5 |0 0|0 0 |0 |0 4,07 100 66,67 | 69,07
loa 15 7 5 3 |0 0|0 0 |0 |0 4,27 100 80 75,20
1-i cemecTp | 14 4 8 2 |0 0|0 0 |0 (O 4,14 100 85,711 70,29

10-a N

(Vircpopm. 1) 2-i cemecTp | 14 6 8 0 |0 0|0 0 |0 |0 4,43 100 100 79,43
loa 14 5 9 0 |0 0|0 0 |0 |0 4,36 100 100 | 76,86
1-i cemecTp | 14 13 |0 1 10 0|0 0 |0 |O 4,86 100 92,86 | 95,43

10-6 N

(Viricpopm.1) 2-i cemecTp | 14 8 5 1 10 0|0 0 |0 |0 4,5 100 92,86 | 82,57
Fon 14 11 (2 1 10 0|0 0 |0 |0 4,71 100 92,86 | 90,29
1-i cemecTp | 12 8 4 0 |0 0|0 0 |0 |0 4,67 100 100 | 88,00

11-a _

(Viricpopm.1) 2- cemecTtp | 12 5 5 2 |0 0|0 0 |0 |0 4,25 100 83,33 | 74,33
o4 12 5 6 1 ]0 0|0 0 |0 |0 4,33 100 91,67 | 76,67
1-i cemecTp | 12 2 6 4 |0 0|0 0 |0 |0 3,83 100 66,67 | 60,67

11-6 N

(Vircpopm. 1) 2- cemecTtp | 12 4 4 4 |0 0|0 0 |0 |0 4 100 66,67 | 66,67
loa 12 1 8 3 |0 0|0 0 |0 |0 3,83 100 75 60,00
1-ii cemecTp | 10 3 5 2 |0 0|0 0 |0 |0 41 100 80 69,20

11-B .

(Vircpopm. 1) 2- cemecTtp | 10 6 3 1 10 0|0 0 |0 |0 4,5 100 90 82,80
lon 10 4 5 1 10 0|0 0 |0 |0 43 100 920 75,60

LkonbHbIV nopTan

£

2 Mockosckoi obnacti
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